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E. ~enough (for A) to do #3C
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Because he is very tall, he can touch the ceiling. *ceiling : KIF

=He is tall touch the ceiling.
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[ smart / she / to / solve / is / the question / enough | immediately. *immediately : 9 <{Z
(2) HOHEFFIZHHEZ D BV,
[ is / buy / enough / cheap / me / that / car / for / to ].
B) ZO/NFIFRELWVO T, H&ZIZIEFmDH D & BnET,
I think [ to / easy / her / this novel / for / read / is / enough |.
(4) 1% H B B Al C & D AFEE Tl eV,
[ a car/not/to/enough / he /is/ drive / old ].
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[ carry / to / he / kind / was / enough / my bag ].
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@ kindly (BlUicd) %{F 95 : He kindly helped me with my work.
@ kind enough to do #ff 9 : He was kind enough to help me with my work.
@ It’s kind of A to do #fif 9 : It was kind of him to help me with my work.
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(1) You are kind enough to take care of my son.

It’s kind ( ) ( ) to take care of my baby.
(2) He kindly told me the way to the station.
He was ( ) ( ) ( ) tell me the way to the station.
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(1) She is so old that she can travel alone.
= She is ( ) ( ) to travel alone.
(2) The question is easy enough for the students to answer.
= The question is ( ) easy ( ) the students ( ) answer it.
(3) The boy is so young that he cannot travel alone.
= The boy is ( ) old ( ) to travel alone.



